) dN/dy

(LN

Ratio to CMS

0.5

0.4

0.3

0.2

0.5

7000 GeV pp NSD
_| S I I I B B N I B B B | | L I |_
- Y[(K0S) (NSD, Iyl < 2) ]
_ m  CMS |
— —&— Pythia 8.308 default —
| - Pythia 8.308 tune-4c o
I & Pythia 8.308 tune-4cx _
L o e,
— - ¥ R oo v = u —
__ o PP 2 FETS | P, EJ--eeeeenenns Eg ............ g— .......... _gi _____________ g“—g—__;j —_
:| P I I B | P I I B | P I I B | P I I B |:
L L L L L L
I S—— A a4 A& A4 |

ﬁ.::_'_f_'_rﬁ—..:f.'.f.'.."ﬁf.':.'j.:ﬁ:r.'_f_'_r_'ﬁ?j.:f.'..‘..'.Tﬁ‘..'.T-'-Tf--"lﬁ-—--f-‘--_-"'ﬁ":7"'7-%-37"'T:ﬁ .

I T T T I R T T I R T T I R T T l

0 0.5 1 1.5 2

Rivet 3.1.10, = 2.8M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


